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ANGLO-CHINESE SCHOOL {JUNIOR)
SEMESTRAL ASSESSMENMT 1 {2004)
MATHEMATIOR
PRIMARY 3

Name: ' A ) Parent’s signature:

Class: Primnary 3.

e A sty . -

Date: 117 May 2004

BOUKLET A

20 MULTIPLE-CHOICE QUESTIONS
40 MARKS

TO"]:'AL TIME FOR BOOKLETS A & B: 1 HOUR 48 MINUTES

DO NOT OPEN THIS BOOKLET LNTIL. YC)(.EIARE TOLD 70 DO SO.
READ AND FOLLOW ALL INSTRUCTIONS CAREFULLY.

ANSWER ALL THE QUESTIONS.
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SECTION A {20 = 2 marks)

For each of the following questions, chooss fhe correct
answer and shade the correct oval {1, 2, 2 or ) on the Optical
Answer Sheet provided.

1 Express 3 079 in weras.

(1) Three thousand, sevan hundred and ninely,
(2)  Three thousand, seven hundred and rine
(7Y Threathousand and seventy-nine.

(+4)  Threethousand, sevan hundred and rine,

A
2 5 472 15 the sams as _hendreds, _deng
and 72 ones
(1) 5§44
) 50,4
(3)y. 54,40
(4)  EO. 40
3 'n G 835, the value of the digitS isthe sameas ___ .
(17 6 =10
(2) Bx100
{3y B0 %10
(4} B0 % {00 '
4 If ¥ stands for 45 light bulbs,

RO G .
Then W W % ¥ _:> stands for okt hutha,
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9 Thers are 42 pubils in Mrs Raj's clazs. 25 of the pupils have 4

storybooks gach and the rest have 3 atorybooks e Hr\‘,\
\: - ~
many storybooks do the pupils aitogeine::
51\\/?_

(1) 51
(2) 100
(3) 51

@y 175

10 Andy had $378 leit after bu\m 8 discmans at $1588 eqch.

How much moncey did he have at (rst?
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18

19
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Which of the following statements is comect?

(1) BXEXOEXEe=4%8
(2} Sgroupsof 7=5X7
{3) 1'-*-4%*4*4“"1 24 X 4

(Y Biives=5+5+8+5+5

A box.of pers-cost §3. Kovic bomghﬁi—ﬁsa such boeres and
had $102 left: How much did he have at first? ‘
(1) $186

11,

There are 8§ stalks of rozes in a bouquel. How many stalks of

roses aie there in 88 bouqueis?

(1) 800+ 1
(2) 800~ 1
8O0+ 8
800 — &
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Mr Arora has €0 ties whide My Singh has £0 tas, How many
ties must-Mr Arora give to Mr Singh so that both will nave e .

same number of {ies?

(1) 10
(2) 20
(35 40
4y 80

h

Suhaglan




o0
IO
N

Svb-atal {

farg
w0



Saction B (20 ~ 2 mar
Work out the foltowir

5)
1

boxes provided.

21

23

3
v}

Write four thousand and four in nurrbess

What number is 100 i2ss than 8.0007

Compizte the number pattern befow.

How-many even numbers are thera bebwveen 2 028

1 sums and wiite your

answers i the

e e e g

PR




o Wi

3
s

twes

)"3‘\ Ar

oo

168 ~‘\Q§"? @25 Dit\."

28K

y

=

U
TS

MU LJ{—‘l =

()

2 auntient when 98 is divided by 47

ADN The diffarencs be

2:20.What isthe smaller numbey?

has five limes as many marbles As

ether. Howmany marbles
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31

32

When A certain number is muitiplied by 8, the answer is 842,

JVnat s tha number?

e G

There are 10 cars and 53 motoreycles in a carpark. How many

wheels are thare altogether?

{Use the digits givan below to form the smailest aigh number,
= -] hw]

4,2,0.7
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the passengers?

axi can'seal 4 passengers. There are 30 passangers at a tax:

fand. Whatis the minimum number o laxis needad o fateh all
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34 MU NAU gave.7 s stamps-equallv ta Hig 5 children. How TiAny

stamps will 3 of his chiidren receive?

A Dhadmintor facket cost 860 less than 2 tennis rackes
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W cost is 300, how much does a sadminton racket cogt™
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37 24=5=] 7 1 x 0

{

What is the missing number irs the LoxT

38 Jordanis 3-times as old.as Ruebers, f Rueben 3 1% years okt

how much older in Jdordan™
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lam a f-digit number. I am also an avery cunber. When { am
multiplied by 5, 1 have the samsa value as when fam addfed o 13,

What numbper am 1?
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Pattern 1 Pattern 2 Patten 3 SDotern &

How many sticks are neadad to complale Pattern 87
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seciinn (G« 4 marks)

Work cut the following sums carefully. Show each step of
vour warkings olearly as marks will be given for workinas and
refevani statemants,

4°f Andra made 500 beokmarks. Jopathan made 178 fawer

brakmarks than Andre. Flow many boskimarks did they make



42 Andy has 3 times as many erasers as Joshua.

Joshua has 220 erasers, if Andy gives soshua 80 arasar

23 -y

]

many more erasess wili Andy have than Joahua?




a3 Famian hac ot ae . (
3 AT 114 52 matchsiicks. He used 3 matehsticls to make a
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Nico had some chacolate bars, Ha gave half of his cihocola
to his sister and then gave halt of whal he had 2ff 1o his brothar,
Now he has only 5 chocolate bars leit. How many bars of

chocolate did he have at first?
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48

iKewh haa 180 stickers.
After e pave 80 stickers 1o Norman, Wevin still kad 10 more
stickars than Noman, How many stickerss did Noman have af

frei
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0t 3 11, 2
02 (%) 12, 2
03. 4 13, 2
04. 3 15. 4
03. & 15. 2
06, 15, {2)
07. * 17,3
08. 3 13, 4
09. 3 19, 2
10, 4 20 2
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42) 320 erasers
23) 1042 43) 3 sgquares + tyianglas
24) 7 44Y 20 bars
25) 24 433 120 stickers

32) 8
33) 5




